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QUESTION 1

A company has a wide selection of products and each product has multiple associated images in the DAM. Authors
want to search for all images for few products by their product ID at the same time in the asset search. Which change
would you recommend to make the search easier? 

A. In DAM Similarity Search Service, add an entry of product ID and search using the omnisearch box. 

B. Add product ID in the Elevate for search keywords for all products, using omnisearch box to search. 

C. Using the GQL full-text search feature, specify product ID in the metadata keyword in the search panel. 

D. Create a multi value property predicate on the asset admin search rail to target product ID. 

Correct Answer: C 

Reference: https://docs.adobe.com/content/help/en/experience-manager-65/assets/using/searchassets.html 

 

QUESTION 2

A developer is trying to update the existing translation_rules.xml to update some translation rules on a node (node_X).
In a nodelist element, the developer finds multiple rules targeting the same node (node_X). The developer then adds the
new rule at the bottom of the list. 

What is the outcome with this new rule introduced? 

A. This newly introduced rule overwrites translation rules. 

B. An error occurs when the translation rules try to be used on the node. 

C. The translation rules stay unchanged because the first rule on a node is always used. 

D. A warning message indicates that translation behavior will be unpredictable. 

Correct Answer: C 

Reference: https://helpx.adobe.com/experience-manager/6-3/sites/administering/using/tc-rules.html 

 

QUESTION 3

A developer is trying to use the out-of-the-box Image component to display a 1600 pixel x 1125 pixel image on an AEM
site. The web image used is being downscaled to 1280 pixels. 

Which two must be modified to render images with dimensions larger than 1280 pixels? (Choose two.) 

A. The Media Extraction workflow step on the DAM Update Asset Workflow 

B. Day CQ DAM Buffered Image Cache 

C. Adobe CQ DAM Asset Cache 
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D. The Process Thumbnails workflow step on the DAM Update Asset Workflow 

Correct Answer: AD 

Reference: https://helpx.adobe.com/experience-manager/6-3/assets/using/managing-image-presets.html 

 

QUESTION 4

A company has a set of DAM assets related to "hiking". Most of the assets have the keyword "hiking" in title and/or
description in the metadata, and they are showing up in omnisearch while searching for "hiking". Another set of
mountain assets are later added to the DAM without the "hiking" keyword in their metadata. What changes can be done
to include the mountain assets in the top of the result while searching for "hiking"? 

A. In asset metadata editor, create and assign the "hiking" tag to all mountain assets. 

B. In asset metadata editor, add the keyword "hiking" in search boosting to all mountain assets. 

C. Add the keyword "hiking" to the Content and Status of the mountain assets in metadata. 

D. Ensure the mountain assets are placed before the hiking assets in a folder named "hiking". 

Correct Answer: A 

 

QUESTION 5

A resource has already been resolved. What is the best way to modify a property of an asset resource in an OSGi
service implementation? 

A. resource.setProperty("isFlagged", true). 

B. Adapt resource to Node.class, then invoke node.setProperty("isFlagged", true). 

C. item.setProperty("isFlagged", true). 

D. Start a new AssetsManager object, then invoke setAssetProperty(resource, "isFlagged", true). 

Correct Answer: C 

 

QUESTION 6

What is the difference between the Process Thumbnails and Create Thumbnail workflow steps. 

A. The Create Thumbnail step only creates thumbnail renditions for an asset, while the Process Thumbnails step can
also create a folder thumbnail and web enabled renditions. 

B. The Create Thumbnail step only creates thumbnail renditions for a single asset, while the Process Thumbnails step
can create thumbnail renditions for multiple assets. 

C. The Create Thumbnail step only creates a single thumbnail rendition, while the Process Thumbnails step can create
multiple thumbnails of different sizes. 
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D. The Create Thumbnail step allows the workflow author to configure the mime type of the generated thumbnail
rendition, while the Process Thumbnails step does not. 

Correct Answer: B 

 

QUESTION 7

A developer is asked to programmatically retrieve the total number of all the assets exist under the /
content/dam/myfiles repository. The developer uses JCR SQL2 writes the following query. 

While executing the query, the developer gets an error, 

Repository error: javax.jcr.query.InvalidQueryException; 

What can be causing this error? 

A. The createQuery is not receiving the correct parameters. 

B. QueryResult does not have permission to query /content/dam/myfiles. 

C. SELECT * FROM dam:Asset should be SELECT * FROM [dam:Asset] 

D. ... dam:Asset WHERE ISDESCENDANTNODE(\\'/content/dam/myfiles\\') should be dam:Asset WHERE
ISDESCENDANTNODE("/content/dam/myfiles") ...; 

Correct Answer: C 

 

QUESTION 8

An author plans to perform a bulk upload of content into AEM assets. In the list of assets, there are documents that are
the same but have unique file names. The author wants to use an asset duplication detection solution to find those files. 

What is the most efficient way to find duplicated files in the DAM? 

A. Create a custom OSGI event handler to handle detection duplication. 

B. Enable the Day CQ DAM Create Asset Servlet\\'s duplication detection in OSGI configurations. 

C. Install ACS AEM Commons and configure the ACS AEM Commons Assets Duplication service in OSGI
configurations. 

D. AEM Assets detects duplicated assets out of the box. No additional configuration is needed. 
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Correct Answer: D 

Reference: https://helpx.adobe.com/experience-manager/6-3/assets/using/duplicate-detection.html 

 

QUESTION 9

A developer has a new requirement to send an email when an asset gets published. The email body must contain all
asset metadata. The published asset must be attached to the email. 

Which two tasks must the developer perform? (Choose two.) 

A. Set up the Day CQ replication email service in the OSGI configurations. 

B. Configure the DAM Asset Notification in the workflow launchers. 

C. Create a custom OSGI service event handler must be implemented. 

D. Set up the Day CQ Mail Service in the OSGI configurations. 

Correct Answer: AD 

 

QUESTION 10

A package is exported from one AEM server (Server A) using the following filter.xml file: 

This content package is deployed to another AEM server (Server B). 

Which two results occur? (Choose two.) 

A. The contents of the subtree /content/dam/foo from Server A replace the existing contents of /content/ dam on Server
B. 

B. The contents of the subtree /content/dam/foo from Server A are added to the existing contents of / content/dam on
Server . 

C. The contents of the subtree /content/dam/bar/foobar from Server A replace the existing contents of / content/dam on
Server . 

D. The contents of the subtree /content/dam/bar/foobar from Server A are added to the existing contents of
/content/dam on Server . 
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Correct Answer: BD 
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